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1. The speed of transverse waves on a spring is 15 m/s. If the source produces a disturbance every

0.2 seconds, what 1s the Wavelength of the waves produced?
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3. The violin ‘A’ sm,ng (42!; Hz.)élas a length of 30 cm. At what speed does the fun
frequency travel along the string? V - ‘(' X -
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4. A trumpet is an open tube with a length of 150 cm. Calculate the lowes e (fundamental
frequency) that it can play. Assume v =340 m/s. -¢ “l
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8. A rope, fixed at both ends, is vibrated by a machine at a ﬁx{;ﬁ@m (similar to the cla
demo). If the rope is placed under more tension. whal happen tc*@velen ? «Why? V
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